
4 0 2 0

4 0 2
４.０２ × ＝１０００

0 2

4 0 2
４.０２ × ＝１００

4４.０２ × １０ ＝ ４０.２

（うすい字は、なぞりましょう。）

（うすい字は、なぞりましょう。）

4
１０００＝ ３１４０

3 1 4 0

３.１４ ×

３.１４ ×

日にち：　　　月　　　日

名まえ

３.１４ × １０

 ３.１４を10倍、100倍、1000倍することを、式で表しましょう。

＝ ３１.４

1

2  ４.０２を10倍、100倍、1000倍することを、式で表しましょう。

3 1 4

3 1 4
１００ ＝ ３１４

3 1

① 例題
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３.１４ × １０ ＝ ３１.４

日にち：　　　月　　　日

名まえ

1  ３.１４を10倍、100倍、1000倍することを、式で表しましょう。

（うすい字は、なぞりましょう。）

3 1 4

3 1 4
３.１４ × １００ ＝ ３１４

1 4
３.１４ ×１０００＝ ３１４０

3

3 1 4 0

2  ４.０２を10倍、100倍、1000倍することを、式で表しましょう。

（うすい字は、なぞりましょう。）

４.０２ × １０ ＝ ４０.２ 4 0 2

4 0 2
４.０２ × １００ ＝ ４０２

４.０２ ×１０００＝ ４０２０

4 0 2 0

4 0 2

① 例題 答え
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